Siła Coulomba


Natężenie pola E=F/q
e = 1,602 * 10-19 C
Siła Newtona


Strumień elektryczny φ=E*s
Prawo Gaussa  φ=Q/ε0


Dipol


C=Q/ΔV
V=Q/C
Kondensator płaski 
C=(ε0s)/d
Kondensator kulisty
C=4πε0r
E=Q/Cd=Q/εε0s
Q=CEd
L=QEd
d=L/QE
szeregowo C=C1C2C3/C2C3+C1C3+C1C2
U=Q/C | C=Q/U | Q=CU


C=t/lnU0R
R2=R1(1+αΔT)
R2=U2/M
R1=R2/(1+αΔT)
R=ρ(l/s)
I=Es/ρ
I=E/Rz+Rw
E=I(Rz+Rw)


Natężenie pola magnetycznego
-prostoliniowy


-na osi


-w środku przewodnika kołowego


B-indukcja magnetyczna
η0=4π*10-7


F=BIl


FL=eVB
V=reB/m
Φ=Hs*cosβ
M=nIs


Włączanie


Wyłączanie
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